U0ddodooonoooooon

DO0D0O0O00000bb0000000n Schrodinger 000000 ooooOoooooOoO
Schrodinger U 000D O0DOD0O0ODO0OOOOOOOOOOOO0ODOO0ODODO0ODbOO0ODOODOn
gbooooooon

100 Lbobboboobooboobonobo
OO0 LO0000b00b00b0obobooobobobobobbobobooongn Schrodinger
gbobobooogbbbod

:0<x<L

& vwlem = e, vy =] ° ()
-—— x) | p(x) = gp(x x) =
2m dx? ¢ &L, co 000
D00 ex) 0000000000000 0OODODDODODOO0O0O0O0O0O0O0O V(x)OO<x<LO
D00 o 0000000 0ex) 0000000000 0<x<LO00OO0OO00OOOOOOO
O00000 x=0,LO0000

#(0) = ¢(L) = 0 %)
ddooooooogoooodgd
(HhoOo0<x<LOOOOOOOOOOOOOOO

2

ddgjc(z)C)Jszﬁo(x):O’ k= %
0000 0000000000000000000O¢(x)=Ce*0COA00000000
0000000000000 000000¢(x)=Ce*00000000A=+k000000
guduouououououo A, BOO0O0O

3)

o(x) = Ae'™ 4+ Be ik~ 4)
O0000000000@QO00000000¢0)=000
B=-A
O00000000eL) =000
0 = Ae™* + Be™* = A(e™ — e7™) = 2iA sinkL

O000000000000000B=-A00000@G0O0 ex)x00000000000
nO000000O00O00OO0OO
kL = nr

gbobooboboodboooboboodb @ubbuoo guuuobobobbuooobod
gbooboooobobod
n

©n(x) = A, sink,x, k, = T (n==1,%£2,---). &)

D00 -00000000000000000 0 kO00RO0000DO2IA—-A, 0000
Dooboboo gobooobobuoobobeegbgoboboobobboboobon

h2k?
g, = 1

2m



[2]

b A, 000000000000000

% L
1—f lp(0)Pdx = A, f sin kxdx—lAlf el Y x= 4,3

2
Anl =T

00000000000000000000A,00000000000000000000
000000000000000000000000000000000000000000
0000000 00000000000000k,=-k000¢_,x)0 ¢,(x)0000000
0 ¢_(x) = —(A/ADe(x) 0000000000000 00000000000000000
0000000000000000000000000 G)00-0000000000000

gbooboooobmuoobobouoooobbbuoooobn

oooo

2
0u(X) = \gsmkﬂx, knz% (n=1,2,3,). (6)
Jddooooobooudddddoooooobooggooon
h2k?
&, = —. (6b)
2m

b Loouoggobobooooboobobodgo

gboboLgobobogobobooobobobuooobbooobooobboooobooon
DOO000000000000d Schrodinger O O 0O O

n d?
= 3 g = ee(x), (7N

DoOoboodboobodbx=00x=L00000000000O00OOO0

¢(0) = ¢(L), ¢'(0) = ¢'(D), ®)

Dboobooboobooooboobobbobbobon

(70000 (3)0000000000000000 )00000000@&) 000000 (8)
0000ooo
A+B=Ae* + Be ™, k(A - B) = ik(Ae"" — Be ),

Jdodoooooooooooogo
et —1 e -1 J[Aa]_[o0
ikL —ikL = €))
e -1 —(e -1 0
00000000000 oggA=B=000000000000000O00O00O00O0 2x2000
godgdpoodboououonooogouoog

0= -2(* - 1)(e™™ - 1) = —4(1 — cos kL)



0000000000000000000kL=2nm(n=0,+1,+2,---)0000000000
0000@)D0000()000000

2
—%- (n=0,+1,42,---). (10)

ooobdbdobobodb oo B=0b0000ODbODOODbODA=00DODDOOD
gbbboodgobbboooobobbodan

ObAO000000000D000D00O0

L L
1= f lp(x)Pdx = A, f dx = A, L.
0 0

1

|An|:_
VL
OgoooooA,0d0odoooooooodoon

ooooooooo@eooooo@goobbooboobooboobooboobon

‘pn(x) = Aneik”x’ kn

gooo

| 2nm
Pu(x) = —e"™, k,=— m=0,%x1,£2,£3,---). (11a)
VL L
0000000000000 0@oooooo000ooooooooooooao
k2
£, = n (11b)
2m

Bl @Eooboboobogoo)yoood

N00000000000000000000 e, 0000000 000000000000
000000000000000000000000000000@0000000)000
0 D(e)0000

D@)E}Z&E—&J (12)

0000000 D000000000000000000000k00<k 000000
0000 Ak, =k, -k, =2/LO0000000000000002)00000000000
00000

1
mozzy@—&) A Ma000

L
:—2}%@@—&) 0000000
71- n

1/2
_ 2_m 1/2
L 00 n hz &n
:—f‘&ﬁ@—%) oooooo 1
T Jo

_L (_) L (13a)



00000000 LO000000000000000000000000000000 €172
gooooogon

0000000 H0000000 D00 -0 <k, <ocol Ak, =kyoy —k, =27/L 00000
0000000000000

2
D&)z}i&e—aﬁzjgﬁzA@&e—aJ noooooon

L (ee)
:2—f dk,0(e — €,) U000 k=—k0000k<O000O0D0O0ODOOO
T J-

1/2
k 2_m 1/2
L *° o\ n2 "
=22 | dkSe-g,) o0oooo s
2 Jo B 2m de,
d=(37) oo
L (2m\"* = de,
= E (ﬁ) ~f0‘ dSnyé(E - Sn)
L (2m\” 1

Dooboboooob dhbobibd Deooboboooboboeoubd Den
D00 (13a)0bdbgbgooooeoobob ahboooooobobobobobon
bboobooobobboobobboobuoobobbobobboboobobbooboan
oooobobooboooobobob@obuooboboboboboobobobobobooOoo
DoOobooboobooboobo

Oo0odooooobo a3shoododoooooooooooooo kodoooooon e
. 212
2 n'k
kz%(”l?’/lz’n?y)a sk:%

000000000 V=L00000000000000000000000000000

oodo
D(e) = ) d(e~ e
k

L3
:{T)I&w@—&) 000000 (@000 - 47)
T

74 0 h?
:23@dew%@_&) oooooO 12
2m) 0 d = 2m deg
“\n2) L
k
vV (2mY?* [ &k
= ﬁ (Fj fov dgk;ll(ﬂé(e_ 8k)
v (2m\" |
_ /2
_4ﬂ(ﬁjf ' (14)

00000000 vOOOO0O0O0000000000000000000000000 €72
gooooooobon



3oy ooboboobobbob0oboboboboobobooboo
gbbobuoogobbbuoooobbbuoooobn

D(e) =

L (2m\"*
2_(75_’?) 2 gooQ
JT
S (2m
2= 0ooo
47r(hz)
v (2m\"? |
/2

15)

0000S=200000000000000004d000000 D(e)x 22000000
gboobboogobobooobobbuooobobbooobbuooobbbuooobboao

gbbobogogbbbod



